D B
7 LXKE&EHEE AR’
x 2 = 017EESLBRGE AR Yy —BEEAS
= (EH L b aaEkRy r—E T LAS)
P — HATET SRR AESS | HAETERARAEE | BHEIKRY T —15
= ax AIZHRyys—i5 AIZHRyr—15
2 B SelE| BAIRFRERE Ad—hk Ba—Fh ca—+Fh
16:00 EEIHeE  (MITE4AESEtbL4— SEE1-2 -
9158 (£)
18:00 Bast (BRI KAL)
1 000 | BEF 1 EE ()| BRIOE® Q| BEF1EH | O
2 1035 | BEF 1@ W BEF1E% 6| BF1EH | 6
e 3 22| xx7 188 || cF 185 | Q| «F 1838 | O
5
98168 (L)
4 1345 | BEF1E® (10 BEF1EHE D] BF1EH |12
5 52| c 7z 1@ 0B cF 18 |[06] xF 1 @H |15
6 16:55 B F 1 [ B (16)
1 00| B omE (U] BF2@E® |(18)| B F 2 @& | (19
. 2 1035 | w7 anEg ) BFoE®H Q) 7B | (2
9B 178 (B)
3 210| B 2@ ) BFoEE ) BF 2 EH |25
4 1345 | “7anpE 6 BFoE® Q)| cFEaRrE |28
1 0:00 | BFARE | (29 BRELRE | (0)
. 2 10:35 | BxEaRpg | (G) BREARE | (32
E:l
9B18E (A)#R
3 13:00 | = 7 %= 3 B | (33) & F R B | (4)
4 14:35 | B 7 % & B | (35) B RO R B (36)
1 9:00 | = ¥ 3 B8 | @GN LF 3HREH | (38)
i 2 1035 | B FrpBH | Q) B 3fREE | (40)
9R198 (%) | ~E HRIER
BEEIR T B 2 =




